APPENDIX Gl

BIGHT STORY SITUATIONS AND THEIR
EXPnCTED ANSWERS
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28, If she continues the pregnancy all the above

sald problems will arise.

29. They should have used family planning devices
if they wanted to nave a gap cr even undergone sterilizaticn

i they decide not to have any more children.

Situation VIIT

30. The reasons for their non-cooperation are
(a) ignorance towards the benefits of small family, (b) lack
of proper communication between them and national policy

planners which resulted in compulsory sterilization.

3l. Yes, because even those whc did not have any
children or are very young - married or wnmarried both had
to undergo the sterilization. So all suck mishaps have

caused them to have no faith and respect in Doctors.

32. Government should have just tried to develop
awareness in them towards small family through various
A, V. aids and then only thoss who wish to should have
been operated instead of making it compulsory. The decision
of choousing the method of family planning should be left
to the couple so that without using any type of cempulsion
all understand the need of ani thereby try to have small
fanilies.



child do not reguire the sane amount of time and care.

Situastion VI

23. I prefer Krishna's family b2acause it is a
smgll family. He has 2 sons to loock after the farm and
provides the employment to otbher when in need. So there is
no constant expenditure of more people in these family. The

earning 1s same while the expenditure is less.

24. The standard of living of Krishna will be
higher than that of Ram as the expenditure is less than in
Ram's family. They will have rore to spend wvarious types

of expenditures.

25, In old age also Krishna will be able to 1live
happily as he will not have werry in old age for establish-
ing the cniluren. financially, also he will be better off

and will be able to save fdr the old age.

26. In solving national prevblems such type of
small fanilies are desirable. They can solve the problems
of over-pgpulation, unemployment, fooud, etc.and ralse the

standard of living.

Situgtion VII

27. She muast discontinue the pregnancy otherwise
(a) they did not plan for it, (b) it will add to their
expenditure, (c¢) add to their wark, (d) the second child

will not be able to get due care and attention.



doubts.
Situgtion IV

14. Both should have a small family, so that there

is no inequality.

15. No, even those who have more money to spend
snould also plan to have a small family. So that they can
rear their children properly (provide them with all comforts
and fulfil their needs) and the extra money thnat they feel
like spending, can be used in somé other way, cr in helping
the needy people sc that the gap between rich and poor is
minimized and the whole country can progress. The problem
of over-population is also decreased and so are the other
problems of food, housing, unemplcoyment, etc. solved

gradaally.

16. Shyam should prefer 2-3 children only whom he
can rear properly. Preferably one son and 2 daughters or
2 sons and one daughter just to get the satisfaction of
pringing up the children ol both sexes. But if one has all
3 children of the same sex then just for the sake of naving
another male/female child one shoeuld not -ncresse the

number of children as this aads to their expenditure then,

17. Preferably yes. 2ut if one has all 2.3
danghters then should not try for a son. Should satisfy
tnemselves with whatever they aave and should not increase

the expenditure. There is no guarartee tiat the fourth



take the desirable decisions independently, (b) to take the

responsibilities of parenthood.

8. A girl should be 20-22 years when she has
completed her gradustion atleast and can be said to be
matured in her thinking and behaviour. A boy should be 24-26
years when he completes his education and has startéd work-
ing, If he has not taken up any kind of job then he could
be still little older.

10. The age difference of 2-4 years is preferable
so that developmentally they are not too far off in their
maturity.

11. They should be informed about marriage, sex,
and family planning etc. so that they plan their families
acccrdingly and at the same tine enjoy thz married life

also.,

12. This information could be given either by

parents or by friends or by teachers.

13. Preferably it shaild o2e given in the formal way
so that all get the knowledge at the right time and in a
correct sense without any hesitation or hiding. Like plain
or clear facts of life, they can be explained in the class
properly and doubts can be cleriiied easily by the teacher.
Whereas in the informal way all parents may not have
correct knowledge and the parents or the cnildren may not

be very free with them tc tell or ask anything or clear the



education, food, happiness, incane vs. exoenditure, etc.).

5. The knowledge should be sharz=d with others so
that everyone comes to know from each oth2r on population
dynamics. By discussing among themselves they are better

convinced to adopt smagll family norm.

6. Yes. This helps to develop Insight into the

different issues of populsation dynamics.

7. Yes. It should be offered to all students at
this age because (a) this is the age when they build up
their opinions and so at this age thney are taught this
course they will form desirable opinions towards small
families, (Db) mostly girls leave the educzation after this
age and boys also, mainly from middle and lower class,
do not join the regular classes or collegz - as they start
earning while learning. So they either join night colleges
or appear privately for examinations, Ccmparatively few
go for college education, (c) to have srall families both
boys and girls (future husbands and wives) should have the

same opinions. Hence, this is the right agz> when majerity of
them (boys and girls) are studying and ars in the process
of developing their opiniors for future life. So if it has
to be a part of formal education, this is the right age

(IX, X, X1 classes).

itugtion IIT

8. No, because they are not fully matured (a) to



Expected or Desired Responses with Full
Explanat_ms
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1. I will ask him no= to come to Bombay because
(a) he may not get the job eas_ly, (b) as 1t is we are so
busy and he may not be able to adjust with this fast life,
(¢) who will look after the farm there?

2., Like Ram, if many people come to Bombay the
population of Bombay will increase, which will lead to
other problems like: (a) housing, (b) fooc, (¢) unemployment,
(d) environmental polllition, (e) overerwwéedness and

acclidents, etc.

Situation II

3. Mrs. Sharma - because in small family the
expenditure in bringing up children is less and so the
happiness is more - the standard of living is higher, the
health of all members is good etc. There 1s no guarantee
that if one has more children they will all help in
business.

4, EBither by comparing the merits of small famili-
es with the large families or comparing 2 families (one large
and one small) from the neighbourhood and compsring them on

the points like - standard of living (health of all members,



integrated the family is. They mgy at least 1f not all few
will feel responsible to take care of perants in cld age
whereas in small family - wikh one or two sons (children)
only they may not feel responsible - and zZhen parents don't
have greater cnoice for this. In the large family even if

e or two sons are irresponsible all will not be so.But
again this is no guarantee. In small family also the children
may share the responsibility as they know they cannot shirk

their responsibility on others.

More than the large/small family much depends on
what 1iabilities a family has. More the 1labilities poorer
the quality of life. The reason is more tae family is
integrated (in sharing the responsibilitizs) whether large
or small, more will be the chences for thz old parents to

remain happy.

4. For anation like ours, we need small families
s0 that they uplift thelr gquality of living, thereby of the
nation. The national progress will depend much on the
guality of living'of the people. Small planned family will
not be a burden an the nation but unplanned large familles
increase the national economy and hampers the overall deve-
lopment of the country. There would be balance between the
resources avellable and the demands of the people so the

shortages will not e there.



Situation V

1. Krishna's family is a happier one compared to
Rama because in their family the expenditure is less. They
can fulfil the needs of all family members so they remain
happy. They can maintain Ligher gquality oI life i.e. they
can better food, housing facilities, better education,
recreational 1acilitlies, heslta care etc. to the members.
They can pay more individual attention to each member and
s0 their psycholegical needs are also fulZilled.This makes

them 1ive hzppily.

2. Krishna's family can maintazin higher standard
of 1living because when they have few children they can
afford to spend on better food, health care, housing,
recreation, education etc. Thereby they can maintain higher
standard of living than Rama's family.

3. In the 0ld age as such (smwall family) Krishna
shiould be happy because througacut the past 1life he is
expected to maintaln g better juality of 1life - give more
care and attentiun to the needs of the children and so the
family will be more integreted. The property will be divided
amongst few thereby each one gets a larger share, so they
(children) will feel happy. They will take the responsibility
cf the parents when they grow old and will not guarrel upan

who should take the responsibility of old parents, etc.

This may not be true always. The mne who has largze

femily can also remain happy depending upon how close in -



too large otherwise it will be difficult to fulfil the
basic needs of life also. The quality of life gradually
becames poorer and poorer and the health of all members also

gradually deteriorates.

2.0ne son is always preferred in the family to
continue the family. But for want of sen ane should not en-
large the family beyond 2-3 children, Otherwise the quality
of life will go down. Morecver, there is no guarantee that
the male child only will be bom. And sc one should take
proper/desirable decision as/waen to stop having children
tecause the ill effects are many. One czn always adopt the

child.,

3. The difference between the two children should
be of 2-3 years so that the mother also rzgains her health
end the child also becomes independent. He can express nis
needs and so she can pay more attention to the younger

child when she has me after this much of gap.

4, No, by performing 'Pooja and taking Manata'
he can never have a son, He should not waste money on these
because as 1t 1s difficult to meet both ends. The bagby is
concelved when there is a physical union between the male
and the female. By 'Pooja' anc 'Manata' how can me have
a child, leave aside a son. S¢ 1t is in their hands to

nave or not to have a child.



bears more children, with each successive pregnancy her
health deteriorates. With the result the chances for both
maternal and infant mortelity increase. With more children
she has to strain herself more in taking ~heir care or in
rearing them, which may again have ill effects on her
neelth. The mental tension, of rearing the children and
taking care of their psychologlcal needs, increase and this

alsc adversely affeet her health.

4, No,children are not gifts of God. They are bomn
only when the husband is able to conceive the wife., Without
the physical union there will be no pregnancy and so this
is unscientific tc think that their birth is not in the
control of man. Man can easily limit his family size, if he

wants to do so.

8i tion IV

(a)
1./ Harisingh should have a small family of 2-3

children only. sver lesser than this also will be alright
for him because his earning is very limited. It's diffi-
cult to fulfilil the needs of children and mnaintain a jood
standard of living in such a limited income if one has more
than desired number of chilairen. They will not be able to

live happily, if he has more children.

(b) They cen be elther male and female or all
males and all females. This mekes no difference. For the

want of son or daughter one should not extend the family



their marriage so gthey are fully preparec for their future
roles. She can attend such ceurses or contact the agencies
or centres who impart such education to satisfy her curio-

sity and get the true scientific infomation,

Situgtion 111

1. Mr., Shyam's family should consist of just 2-3
children only. This will help o maintain good standard of
living and he and family can 1live happily. His wife's health
also will be maintained properly and will not worsen day by
day. They can take care of the physical as well as psycho-
logical needs of children so taat they liwve happily.

2. Since Shyam has 1lots of moneyv rather he should
have small family sc that he can spend properly for the
needs end comforts of all family members, so all can live
happlly . He has money, he can afford to fulfil the physical
needs of family members even waen they ar= more to certain
extent but this he may not be able to do for a long time.
Large family means more expenditare. The same wealth he
can enjoy for a longer time and maintain aigh standard
of living, if he has small femily., With large family and
mother's ill-health the psychclogical needs of the members
(children) are not fulfilled, this m&y prove harmful to
them in their later life.

3. There 1s a direct relationship between

mother's health and number of chiliren she bears. When she



They should get married when they are matured to
take the respensibility as parents, cemplsted their educa-
tion, boy should be economically independant ( self-support-
ing er employed), legally alse she sheuld be above 18 and
he above 21 years. They should have enough knowledge and
understanding about the family life.

2. Yes, the age at marrlage and child bearing
zre related. The chances of early child bsaring increase
with the early marriage which has a negative/adverse effect
on the health of both mother and child. Due to early
marriages or marriage at an eerly age the mother may
produce more number of children alse as the repreductive

span increases.

3. She needs to know about marriage and family
planning before marriage itself. This will help her to
formulate desirable attitudes and understanding towards her
future role both as a citizen eand as a mother/pérent. She
will not take married life as a barden but at the same

will enjoy the same.

4, To satisfy her curiosity she can ask guestions
or gather information from other elders may be relatives/
teachers in whom she has confidence. She can even read

good books, if she can get/find.

The schools and colleges should run the course
- population education - or scme such course in which all

this information is given to the children/youth before



(g) _Health - with mere crovd and alr pollution
ete. the health problems increase - accidents

are also more. Tne life is not very safe.

2., Like this 1f many people shift to Bombay the
population of Bembsy will incrzase which will lead to many

problems like:

(a) Heusing, (*)

(b) Employment,

(@) Availability of zoods (food and other
materials),

(d) High cost of living,

(e) Environmental pollution,

(f) More accidents
(*more slums and footpath dwellers),

(g) Health,

(h) Bducation, etc.

Situatjon I

1. No. this is not the appropriate age for their
marriage because they are not fully matured to (a) take the
decisions regarding their family independently, (b) take
care of the children and thems2lves as parents (responsibi-
lities of parenthood), (c) legally, also they do not fit
the marriage age, (d) they havz still not completed even the
basic degree of graduation., ani by this thelr studies will

pe affected negatively.



Expected/Desired Responses with Full Under-

standing
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Situagtion 1

1.

No, his decision 1s not wise. He should not

think of shifting te Beambay. 1f ne does, ne will have to

face many problems.

(a)

(b)

(e)

(a)

\e)

(£)

'ﬁe mgy have to elther dispose off or give
on contract ete. his farm wherein he will not

get eneugh grains.

Hoeusing problem - dlfficult to get, if he

gets at a very high rent and a very small one.

Employment - Business there or jon both are
eqially difficult because of high competition.

Cost of living is very high there and so his
standard of living will be affected.

ghildren's educgtion - admissions are diffi-
cult - other expenditures on education
(including transportation) will increase

conpared to his native place.

Life at Bombay is very busy like a machine. So
mental peace is not there. This will affect
their health.



APPENDIX G2

FIVE STORY SITUATIONS AND THEIR
EXPECTED ANSWERS
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Expected/Desired sespotises with sfall Jdnder-

standing

W TR B g By By P P00 GRS w B BN

iitaats I

1.

Mo, uds declisien 4z not vise, Ee ahwuld net

think of shiiting te lembay. 1f he Goes, he will have te

face many prebless.

{a)

(o

(el

(4

Y

(L)

te may bave te eitber dispuse eif or glve
onh contract etce Nds Lorm wherein nc will not

got eneuzh grains.

fiodslog predbles - dififiealt to got, if he

gets st & very high rent ani a very small one,

Employaent - Jsiness there or jeb both ere
egually difidcult because of high cerpetitiun,

cont of livigg 4s very hi,h therc snd se his
standard of living wvill be afiected.

Ghildrsn’s. sdagation - sdsissians sre diffi-
cdlt « other expanditures onh eduieatin
(ineiading transpertaticn) will incresse

euapared te hils netive place,

4ke at Jombay 1: very Rusk like e maghine. bo
zwehtal pesco is not there. Tirls will affect

Lelir nealth,



(g) .bmsith » with xeTe erevd and alr pollutien
ste, the health preblens iligcreass - pocidents

sTe Bls® BOre, Ihe 1ifs is not very safe.

3. Like this 1f many petpie srift to 2embwy the
populetion of Sembay will inorease wiich will lesi to amny
probless lise:

{a) tieasing, (*)

(o, amployaent,

(@) Avallability of guods (fecd ed ether
asterisis),

(d; uigh ecost of living,

(o) unvireimental polliatien,

{f; More scclidents

(*nere sluxs wnd footpeth dvellers),
(g} bLeslth,

(B wugestlion, ete.

1. bio, tois i3 et thae appropriaste sge for thelr
marriaze becsuse thne, aPe not fully matured teo (a) taske the
decisieny regarding treir fmily indepeniently, (b teke
oare of the ciildires snd theaselves as perents (responsibi.
1ities of parenthoed), ie) legelly, eise they 40 net fit
the marrisge age, (d/ they nave stil] net ccmpleted even the
oaslc dagree of gradustion, and iy this Ciredir stuadlies will
0 alifeeted negatively.



their marriage s¢ §thay are fully prepared fer their future
ruiese She can stlend suoh ewirces ur contact the ageneles
ur centres wie impart guch education to satisfy her curie.

slty and get the trde sclentific infurcetion,

ls Ar. Shyas's family sbould consist of just 8«3
enlliren enly. Tids will belp to salntein geod standard of
living and he end faaily cen live happily. lils wife's hesith
alse vill be meintsined properly and vill net worsen day Yy
daye They csn tace cure of Lhe physical as velil as pssoho.
logleal needs of enlldren s¢ thsl Lrey live happily.

3. Uince Shyes has luts of meney rather he sheuld
have suell fmeily sc that he can spend preperly fer the
nevce sad cwmforts of all femily mexbers, se all csn live
ha;ddy. lie Cas money, he can afferd te fulfil the physieal
nesds of fmuily moeaburs ovenl wash Liey are more %0 certain
extent 4t thls De may net de able t¢ do {or a» leng tice.
Large family memns morsd oi.enditure, The ssxe weslth he
con e oy for a lunger time snd mainteln Ligh stwmdsrd
of living, 1f he has suall femily. »ith large femily snd
metier's 1ll-neslth the payoholegical needs of the members
{ehlldren) are not fulfllled, this awy preve hareful te
thes in Chelir lster life,

3. There 1s a direet relations ip betvesn

mother's health and namber of ctiliren she bLears. whed she



beers zore culliren, Wwith euch successive pregnmgy ler
health deteriorates. = 4th the result the chences for beth
asternal snd infat sortelity increase. With mere children
she Lias to strain herself more in texing thelr esre or in
resriig themy which @ay eagaln have 11l effects on her
ieslthe The mental tensien, of resring the chiliren sng
tacing care ol their pasehdleylesl needs, incresse wnd this

8ise sdversely sffect her healtn.

4 No,enildren sre not gifts of Ged, They nre bem
only when the hLusbend 15 sble te gonceive the vife, sitheut
the phiysical unlen there will be ne pregnsncs and sc this
is anscientiflie te tnink that their birth 1s net in the
ecntrel of aan, Han cont easily liwit bls fanily siae, 1f he

wvants tu de $G,.
Sitaatien 1¢

ﬁfauumsa sbhould Lave a seall {wmily of 2.3
ehildren only. cver lesser tham this alse will be alright
fﬂ’- him begsuse hig earning is very limited, Iit's diffi.
calt te falfrfil the nesds ef chiluren and asintailn » good
stasaapd of living Sn sueb 8 limited Jlncime LI wio nas more
than dsaired number of chiliren. They will not e alle te

ilve bapyily, if he has mere ciildiren,

(b They cen bs either male and femals or all
asies a4 ail Iaalu.‘ Tids maies ne 4difisrence, For the

vat of so or dmizhter e shedld net extend the fmily



teoo large ethervise it will be difficalt to fulfil the

besic needs of 1ife slso. The quality ef life gradually
becumes poorer end poerer snd the health of all members alse
gradaally deteriorates.

2.0n¢ son 15 aivays preferred in the fanily te
continae the family. But Jer vt of sen ane should net ene
large the family beyond 3«3 children, Othesrvise the yuality
of 1ife wil]l o devn, Morsover, there 1s no guarantee tiast
the male cilld enly will be beem, And so one sroalu take
preper/desirable decision as/wahen to atep having children
begsise the 111 sffects are amy., Gtz csh alvays sdept the
ohild.

3. The dilference betveen the twe eniliren sheald
e ©f 2« yoars se that the mother else regsing her heslith
and the ohild alse beccmes independent, Hie cah express his
needs i s9 she e pay more atteatien te tha jounger
chiild vhen she has ane after this much of ;ap.

4. No, ty parforming 'Fec)a snd texing Mensta'
he cen never have s san. He should not waste meney on these
becoxse as 1t Lis 4ifficult te mest Deth onds. The bady is
conceived vhen there 1s & phbyeicsl unfon between the male
o:d the females iy "Fouja' and *Hanate' how cmn ene naeve
& e1ld, leave aside a son. 49 it 1s in thelr hatds to

Leve ¢r net to fave & child,



Siuustiem (.

1. Kristne's femily 1s & happlier e cumpuered te
iama bDecsuce In thelir femily the expenditare 4s less. They
ean fulfil the needs of all fuzally members 56 they rexain
happse They cen maintaln Ligobar qaality of 1ife 1,u. they
con better i(vod, hvasing fssliities, botter eduostion,
recresiilenal iscllities, Lenlth care ete, to the memers.
They can pay nore individiel sitention teo esnch member and

39 thelr payciiclegicel needs sre alss fulfillled.This makas
thes live hapilily.

3. Arishna's femily csp maiatein nigher standard
of living b-.cause vhen they have Jew chiliren the;y ean
afford to spend en betier fecd, ts#ulm eare, heasing,
recrestion, educstion etc. lhwereby they can matntain bigher

gtedard of living than iieme's fanily.

3. In the eld age av sach (smsll family) Erishna
snwald be happy because throagh-ut the past liis he s
sxpected te maintain a'buztcr qasdity of life « give more
care and stlention te She nesds ¢l the obildren and g6 the
temily will be mure iutegrated., Ine projerty will be Alviiled
suanget fev theredy seelr ouw gets & larger share, 8¢ they
(enildren) w41l feel happye ligy will take tihs respansibdilivy
¢f the parents when Lioey grow old and wili not guisrrsl upen

who sthauld tase the regponsibllity ef old parents, eta.

ihis a2y net be true alvays. Ihe wne whe has large

| f-mily cen also rewsin Rupps depengl g dpon hov elvse i -



inte; ruted the imily ise. They may st least 1f not sll few
will jeel responsible to tase care ol prrents in eld age
vhereas 1o sxall family « wilh one er twe sons (cliluren)
enl, they zry Dot fee]l responsidle « snd then parents don’t
nave grester ecivice for tils. In the large family even if

vne or tve sons are irrespunsible sll will net be se.dut
again tuls Ls ne gasrsntee, in saxall faxily alec the enildren
may share the responsiblliity es they knov the; cannet ghirk
thelr rosponsibiiity on others,

Hore than the large/small famlily much depends on
wnat 1iabilities a fakily has. Hore the liabdilities pocrer
thoe guality of life. Ihe reasctt is mere the family is
integrsted (in sharing the responsibilities) whether large
or smsll, acre will be the chanees for the eold pasrents to

reseln Lapprss

4 For anstion lice 2urs, w‘a nead sxgll femilien
su that they wuplift their  dality ef living, tihereby of the
nation, The netional pregress will depend mich en the
quality ef living ef the pesple, saail planned fanmily will
not beo s turden on the naticn Wt unplinned large families
increase the natienal econeay snd hampers the everall deve.
lepzent of the country. There veald be balsnce between the
ragoarces avallable sl the damands of the people seo the

shortages will net be there.



